
 

3 15 Lem3.10

B

A c
A

B D

H

3.26
É OACDEOABC

Eep Y
IAC ABIAbl b a

Incl Fb

i

3.43 tÉ E EI lo gon
tis

he 2 P Pm Pi 224 1 Fermat prime



regular 9 gon is
constructible cos 4 is

constructible

sing is
constructible

co é asf't i sing ftp.t

I É e
t asf i sing

IFZ.usI wttw.w9
i
EeiE9ei.zt

l

i

0 49 1

ql.lustw7twbtwttw4tw3tw4_o.iIi

Wz.wF x 2
1 33 I

43 63 3.6 w 3mW 4W I w q
3
1 46 4

II X 34

x4 w4t 4 co wtt6 w w
2 4w.w 3tw 4ah bh

w4t4wat6t4w 2tw 4 1

Ca b ahta by
w 4 4.1

2 41 4 2 2 tab t

IEEE
X 24 1 4 14 0

1 44 32
110.1

1 1 3 2 1 0

4 3 Xx txt xxi



Pentagon x 2647 K x tI

Thy x o is a rootof an irreduciblepolynomialofdegree
n and

suppose oddphor Then xis not constructible

31 cosYt 15 3 5

3.1 Thin min relatively prime regular in gon construct

ngos
Cmn gon is

constructible

why
gedlm.at

m.atnt.a.btz.cos
n.aatnbl cos 2nI at E b

l smffn.at.sn D

polynomialof
a polynomialof sink and as Eandsite

142ptws2cosp s.na.sn
mhmtondoettrient



5 18 Snub cube vertex configuration 3 3.3.3.4

Fs triangle tales

F4 Squares

III
4 Fy 343 F3 YI
4EE 4FattII

1o.F4FF3tF4 1bI4 Fu Fa

Z X V Etf 4Fa Lo Fut Fa Fa Fy 6

F3 1 32



5
2 4 9 1242 24 122 18 0

I 3 A HI AF IE IF I 7 6 0

a 6

Al 6

E It 1

Sx 29484 6 84 1 0

41 14411 111 E N loath 16 11 1

Nito
no Alo Parabola

I if o



 

1 Usethefollowingpicture to explainwhythethickenedcome one is

a hyperbola with foci F and Fr
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2 Give a descriptionoftangents
to hyperbola Then use it toshowthat

if a ray l passes through F Cafterextension then its reflection la

passesthrough Fa

iii iii

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)

(5)


